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Examination for selection to the post of Section Controller in Pay Matrix Level - 06 against 25% LDCE
in Operating Department of Raipur division.

feqi=r/Date : 30.09.2024 g / Time : 2 S</Hrs. ¥ 3(%/Total Marks - 100

29T / Instruction :-

(i) TAq 3T F o0 i FE A0 There will be negative marking for a wrong answer
(As per Establishment Rule No.315/2019)

(i)  F 110 =T (100+10)E, SFH 10 w1 (FHleTH) ITASTATHT 9T NI Tger 100 SATH FohT 77 907 =6
IAL FT BT j1@1”5!74ﬁv‘ﬂTTvIIQJIII There are total 110 questions (100+10) in which 10 questions
(optional) will be from Raj Bhasha.

(iii) o IS WA § 99 dF  (TAF01 3WF) 21 All objective questions carry equal marks
(01 mark each).

(iv) T2 STATE IT A=TAT | TS GH g, T FUST HERLI T ITAA 64T SITUIT

If there is any confusion in translation or otherwise, the English version will be followed.

(v) T SwfiEad #1 7 W qere <F STt g B w1 fT sraeas gr ar wre oft s/ A At
FT 3T ST 9t &, et stqard €9 § 9 HhAr St A1e vl

All candidates are also hereby advised that any information/instruction, if required, may be given
by Nodal Officer, the same should be followed invariably.

(vi) TgSTr FeT HE&AT 22 2! There are total 22 number of pages.
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TAYR HSA F AGRFET a1 §25% LDCE F faeg T Afea daer- 06 H AT (4= % 7 I 999 ¥ forg 7 7=
Question Paper for selection to the post of Section Controller in Pay Matrix Level - 06 against 25%
LDCE in Operating Department of Raipur division.

SL Question MARKS
No. (1 mark each)
BRGS0 [ & ®9 | q197 97qT 2
1 |(m) gl (@) W GINRES] (3N =T
" | The wagon Turn Round is measured in terms of............c.....
‘(a) Weeks ‘(b) Months (c) Days (d) Years
THEUHY AT AAATST THTS & ®7 | faeaw
) s (& zaftFzw | (3 TtEEE
(0) Al feaw ( g g g
, K LEIGEE] HieaTe s
" | MEMU expands as Mainline ___ unit
‘(a) Electric Million ‘(b) Electric Mechanical (¢) Electric

(d) Electric Mixed

Multiple

ERULESIEREAGEEJ—— ST ST AT AT T STTd 2

g | (@) o GRS (&) e (SN) Tea ars
Approved Special Instructions are issued or approved by.........
‘(a) PCOM ‘(b) GM | (c) CRS | (d) Railway Board
ST FIs OUe AT SH1AT SATAT 8 JT ST AT a7 &, T aaendl adl ... ED)
srafer & forw fegT strovm)

1 m 10fRe () 50 foe= (@) 70fw | (&) 90 f+
When a signal is newly erected or shifted, caution order shall be given for a period of........
‘(a) 10 days ‘(b) 50 days ‘ (c) 70 days ‘ (d) 90 days
ERRETRICEI . H TATT Il 8
(T) FTF T AR | @) mmafeEm | @ dafRmEE | (@) s ash

5. | Punctuality is affected by ......
(a) Faulty Time Table. (b) Bad Controlling. | (C) Delay in All the above

Shunting.

24 v § Torelt Tor9r fRorm § =l arelt SITaha ™ LTS AT sl H&aT Tl FAT Fad o7

(T) g9 (&) T = Twse (H) T TS SA1% S

T4 oA ERIGIC
6. | The number of maximum trains that can run in a particular direction in 24 hours is called?
‘(a) Through ‘(b) Wagon turn round (c) Average speed of (d) Line capacity
Put goods strain
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SeATEE TS gIv U< SATerha | I 4T gl 57
() a0 Frer ARy g (}ﬁ) 30 Rl | (& 25 (N 20
7. HeT foreft ofe srer | Foelt i e
What is the maximum speed when headlight becomes defective?
‘(a) 40 KMPH ‘(b) 30 KMPH | () 25KMPH | (d) 20 KMPH
THUS HFH UL 21 60 & Tquud o7 § o &gelt i =g a9 gi...... HleT 8l
(T) 300 () 280 (|T) 240 (21) 350
8. | The minimum distance from Home signal to facing points in MAS territory on a SL section
is......mtrs
‘(@) 300 ‘(b) 280 (c) 240 (d) 350
Aforfed & & i € qREqRT Hehfeer (AT T & Hated qal gl
9. | (W) arf (@) wfRy (1) T (3 AR
Which of the following asset doesn’t belong to Mechanical department.
‘(a) Bogie ‘(b) Wheels ‘ (c) Knuckle ‘ (d) Tie bar
fArforfea ® @ fohg age ® Yo 2 981 &7
10. | (@) ==ferm CUNEIERIRSS #F) s | (@) TEar
Which of the following town doesn’t have a railway station.
‘(a) Kharsia ‘(b) Ambikapur ‘ (c) Jashpur ‘ (d) Balod
Aafeoriad § & &i9 97 e &1 Fded qal 87
. : |1) A
(T) Tt 1 ENIEGUIERIED ‘-,( )E oo (ST)  YeETEt
qEtera afe=merd GRfEa | sadrge #7 omar- ‘ AETWTEA F forT
HIATI ST AT S et HHATAA
11. AT
Which of the following is not the duty of guard ?
‘(2) Ensuring Safe running | ‘(b) Maintaining (c) Ensuring (d) Panel
of train. account of detention of | punctuality of | operation for
trains. passenger train movement
trains
AT qrere [0 T FHTe % JTas(E 99 9% 27 % qel F2 qhd1 I TF
(T) T ATEST o IH =T (1) T (1) Froer | (=) mE A
o T AT RS T E | T SH E T | 739 L& FT | I F LA &0
=7 faer Zar 8l T e gar gl | Aeazar gl
12. Loco pilot can’t start train despite given signal until and unless.....
‘(a) Station Master instructs (b) Sectiop .(C) TLC : .(d) Guard ,
hi controller instructs instructs him | instructs him to
im to start :
him to start to start start
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Py ST 35 o Y o6y, o e wrard o 2

(ST) Iarh et A
(T)
, ) Ted (&) srtergeT (|T) Hr T Serar 3
" | Which type of BPC has longest validity ?
‘(a) Intensive ‘(b) Premium (c)cc (d) All of the above have same
validity
FIAAT AR o To1T TohE TRTT T S0 FaH ST o7
. (<)
14, | (T TAEFE (1) T (H)  deoe N
Which type of wagon is most suitable for coal loading ?
‘(a) NBox ‘(b) BOST | (c) BCN | (d) BTPN

TTAEY FT ITANT TH I29T H Al [hAT IATAT |

) o R o s | 0 TR gy gy
TITET 90% e o form oty & Yot = 7T o AT

qTIE T g4
15, ET ALY ¥ o qLAT 3q
Detonator is notused .............

‘(b) To stop a train (c) To alert (d) To protect a
in case of emergency | the loco pilot | train after
during fog accident

‘(a) To start a train in case of
emergency

TSt o TaAT U & 50 TRt/ 5eT &7 3f&a T | ATAT HTdl g, A TS 6 91, T8 40
et /=ar & siera Tt & J73T Ay g1 2 Wi = sieae fhaa fee Fadt &7

(T) 13 | @) 14 | (&) 12 | @& 15

A train without stoppage travels with an average speed of 50 km/h, and with stoppage,
it travels with an average speed of 40 km/h. For how many minutes does the train stop

on an average per hour?
‘(@) 13

16.

‘(b) 14 | (0) 12 | (d) 15

T T T e T 600 Hiex/faAe g1 9.6 T § 100 Hiex it T T i3 arer Few iy
TAAT H TH I T A Fhay e Tt (dew/The &) &2

(T) 1/2 | ) 5/24 @& 7/12 | @) s5/12
17. | The average speed of a car is 600 metres/minute. How much slower (in
metres/second) does the car run than a sprinter who covers 100 metres in 9.6
seconds?

(a) 1/2 ‘(b) 5/24 (c) 7/12 (d)5/12
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18.

66 Tt /=i &1 i & T T2t g forAmeht 5 e ager ag=dt 81 Afe ag 54 Gl /=5
T I | ATAT Fd, AT 39 3 e ot 37 grat| ety & fraet g0 a7 et o

(W) 39.2 fredY

(1) 40.2 BT

(#H) 39.6 T

(1) 40.8
BRI

Travelling at 66 km/h, Piyali reaches a place 5 minutes early. If she travelled at 54
km/h, she would have been 3 minutes late. What is the distance Piyali had to travel?

‘(@) 39.2 km

‘(b) 40.2 km

(c) 39.6 km

(d) 40.8 km

19.

A TRoet & AR deh 27 TRt /=iet & I & STar g S 33 FoRHT/=eT 7 T & a1
FTIE faeett AT g1 T ATAT | S0 &l 38 T ATq i)

(W) 29.7 Frer /=@

(#) 31.3
IETVACEAl

#r) 28.9
IER VALl

(¥T) 30.5
ETIVACEAl

Aman goes with a speed of 27 km/hr from Delhi to Agra and comes back to Delhi
with a speed of 33 km/hr. Find the average speed of Aman during the whole journey.

‘(a) 29.7 km/hr

‘(b) 31.3 km/hr

(c) 28.9 km/hr

(d) 30.5 km/hr

=&—Train 'A' =—#—Train'B'
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=>¢=Train 'D’
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Study the above graph showing distance travelled by different goods trains and time

taken, and answer the following questions.

HaH O oA i Ht o

(W) 3 e @ Tow | ) e | (&) e
20. | Which train was the fastest trains ?

(a) Train ‘B (b) Train ‘A (c) Train ‘C (d) Train D’

FIT | Yot A P fT sy =

(W) 3 K G A R
21. | Which train maintained constant speed ?

‘(@) Train ‘C’ ‘(b) Train ‘D’ (c) Train ‘B’ (d) Train ‘A’
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o YemTSt | et ars?

(W) 3 A | @ wowr | ) o | (&)
22. | Which train may have encountered failure in section?

(a) Train ‘B (b) Train ‘A (c) Train ‘C (d) Train ‘D’

FIA & o P of?

() a—,{ & ‘ (gﬁ') a—,.r el ‘ (-{ﬁ-) a—'{ vy ‘ (é}) a—,.r ‘Eﬁ"
23. | Which train was stabled.

(@) Train ‘D (b) Train ‘A (c) Train ‘C (d) Train ‘B’

Rt Fue 1 dega #3 & A= R v et § § 987 397 994

TS ‘A’ 3T T ‘B3 A1 ot gt 12 TRHT g1 21 & H, 1 | 3 sifer- R = e w o o, v

HFT ST & &9 H, Foferied w0 & 3ava: -

Study the following statement and choose right answer from the options given below :

The distance between station ‘A’ and station ‘B’ is 12 km. Recently, 3 Nos., Auto-Signals
were commissioned in between. Now, as a Section Controller, answer the following

questions :-

Fr @ Y

U o 48 THT gfaq = & wfq & FEoe ‘A’ | 02:30 I [T 81 T2 e as a9 weo

(T) 02:45 a7 (&) 03:04

24, A

(dT) 03:50
T

(3T) TAH T KIS TS

A train with a speed of
reach Station ‘B’.

48 kmph, leaves Station ‘A’ at 02:30 hrs. By what time it will

‘(a) 02:45 hrs ‘(b) 03:04 hrs

(c) 03:50 hrs

(d) None of these

afe = Ater Bt g2 21 a1 STl o LT 1 ST Jhdl 2
(U) T 6 BAe | (@) Ta | (&) e AR | (3 e 2 R
oc | Next train can be dispatched if all the all the three Auto Signals are Green ........
‘(a) Approx. 6 minutes | ‘(b) (c) Approx. 4
Immediately. minutes (d) Approx. 2 minutes
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AT ST 2T Al T A STl TE9 9% q97 9 Al a1 st FHafenT g § Fwg et
2T Tt g1 AT AT FAT FTLATS F?

(T) 3T FTLATS T ST, ) A (HT) SFTeY FE9
T 9T H AU/ U s e fRom & e et . .
TIHI T W*Wﬁwﬁ AT & forw =13, S (31 FTH & ATl
FIAT T ITHET FL A
26. ki

The train which you dispatched did not reach the next station within time. There might
be some failure in the Section. Then what immediate action you will take?

‘(a) Consult ‘(b) Consult Dy.CHC | (c) Ask the next station to

DOM/ AOM what | regarding actionto | issue C.O to the trains that | (d) None of
action to be be taken. are coming in the opposite | these.
taken. direction.

(T) & 9T Tormrieai &t | () I[ere arett (3) TAH T FIS ARl

HATATSITRT T &F 1T T S F ATAF A Bl (|T) O ATAT 24 %
TF g Rmweaar | Ao audr | SewsaarAcad

T AT SIS AT T IS qTa &l AT | F FIAT SISTeT qTa< 7
AALTHAT o I | STTAAT | FT o 3T %ol g2 ST T o T w5
=T T 0 S Y T & AT S TIT & AT TFAT
TFT BT GTAT FL | ] GTAT T &l
=y

You came to know that the train in the Auto Signal section stalled due to OHE failure.

27. | What action you will take to clear the section ?
‘(a) ) Stop the train ‘(b) Instruct (d) None of these
movement over the Passing Trains
section and discuss Crew to detach
with TLC for their Diesel (c) Send Tower
requirement of Tower | Power and Car to rectify the
Car or Diesel loco for attach to the trouble.
section clearance. stalled train
and clear
section.

Teh e ol SEd ITd AT o0, T ag g4 FT 1/3 AT 2 |//H AiY T F Fd71 g 3T

AT T T TT FA & [orw 12 H /& &1 T | ar5e Fardr gl T 0 1.44 BT g

(W) 18.4 fret/==T & 20.5 (H#t) 15.8 () 16.2

28, RRVACE RRVACE RRVACE

Find the average speed of a boy if he walks 1/3rd distance with a speed of 2 m/sec

and rides a bike to cover the remaining distance with a speed of 12 m/s. The total

distance is 1.44 km.
(a) 18.4 km/hr

‘(b) 20.5km/hr | (c)15.8 m/hr | (d) 16.2 km/hr
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T AT 140 7T P 931 & =maer &t 35 fham Q 1< & =mae & | foemar g1 {5
g TH Fsqor 7 qi=at ZeT a=ar g1 A9 Aoy § 3g {6 & P 3w Q WY o ATao &l 2
3 % U § FeTar g1 o s {07 § P WX % ATaet sl /AT 3 Q THIE & ATaA

T JTAT &7 AT 3 : 1 g AT HitorQ o o1 § Q YT & F1ae hf fehawt 7 foers

T off?

29, | (@ 8 T @) 12 fFer

(') 10 (1) 16
(B (BTl

A shopkeeper mixes 140 kg of P type of rice with 35 kg of Q type of rice. He then sold
one - fifth of this mixture. In the remaining mixture he again mixes P and Q type of
rice in the ratio 2 : 3. Now the ratio of quantity of P type of rice to that of Q type of
rice in the final mixture is 3 : 1. Find that how much quantity of Q type of rice was
added in the mixture?
‘(a) 8kg

‘(b) 12 kg | (10kg | (d) 16kg

T T ST T T TAATH A % d1 7 AL 22 T g 31T 4 T J78 TH il A0 FoT o0l
T T TNAT T SO, A7 T 37 F97 il ad AT AT &7 Sied #4787

(T) 40 @ 22 #) 19 (3 29

30. | If difference between the present ages of Ram and Kush is 22 years and 4 years
hence age of Ram will be double the age of Kush, then what is the average of present
ages of Ram and Kush?

(@) 40 ‘(b) 22 (c) 19

(d) 29.

15 HTex &e FHL AT 60 THT AT FIA & 912 3.25 F94 I Hie & a2 | a6t
ANTT 572 F9H &1 FHL 0l FIET hadl 52
31. (W) 1 @ 7.5 ez | (@) 7T n‘()ré;t) 8.2

The cost of carpeting a room 15 meters long with a carpet 60 cm wide at Rs
3.25/meter is Rs 572. What is the breadth of the room?
‘(a) 12 meters ‘(b) 7.5 meters \ (c) 7 meters ’ (d) 8.2 meters

T2 T ¥ 97T F 20000 FIF T 50000 T2 FT a9 F2eh T F0HT & 0, F0 1
T U FhonT ATNGETE 8, T8 I 9d & 26 | AT 40000 F9 FT Haer F2ar g
3T 0T 6 A 918 I A1 S[E S1qT & S ag 60000 93 F7 Faer #xar g, ar 1 a9
& 1T W, $ATH AT ST o (a9 AT T F47 67

32. | (W) 6:4:3 (&) 6:5:3 &) 7:5:3 () 6:5:4

If Ram and Shyam started a company by investing Rs.20000 and Rs.50000, as Ram is
an active partner he invests additional Rs.40000 from the part of his salary and Rajiv
joined them after 6 months and he invests Rs.60000, then what is the ratio of
investments of Ram, Shyam and Rajiv after 1 year?

‘(a) 6:4:3 ‘(b) 6:5:3

(c) 7:5:3 (d) 6:5:4
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T2 0T 7 = T 15% T a9 A a2 T 3T A, 5T 92 TA—F 4 Tgi & 918 qremer
SATST AT SITAT ¢ S1¥ 44 Ggidl § 98 T 16500 FTF SATS HT SFTATT FLdT @, AT THT o
et Trfor 3eme <2

(T) Rs.35000 ()
33. (31)  Rs.30000 (#1)  Rs.25000 RS.20000

If Raman borrowed some amount at the rate of 15% per annum on SI charged after
every 4 months and in 44 months he pays total interest of Rs.16500, then how much
amount Raman borrowed?

(a) Rs.35000 ‘(b) Rs.30000 | () Rs.25000 | (d) Rs.20000
Yo 3 3 5 T

(T) HTAATET ST 3fea 40 et (M AT TEFIadr | (U) AwennstSr | (v) Rarr

ot = F srfers T F =F=dt 8 AT AT FTAT T Iadd | AT &

Ffamraew g | TS S ATt
ufiady g AT o
34. TSl

What is crack train in railway ?

‘(a) Goods Train that runs at | ‘(b) Goods. train | (¢) Goods train that | (d) Coaching
average speed above 40 that run without | ./hs through crew trains that are
kmph guard changing point run during Diwali
without crew change | festival
WTT &7 901 &9 .......... el
~ Ell
(W) eferhi 1 qom areft | (o) v (&) w =
o e FELTAT T
35. ATy
WTT Full form is ..........
‘(a) Workers time table ‘(b) Wagon time (c) Working (d) Workshop
table time table time table
T &1 FT I ... el
(T) & et [[Lers (Eﬁ) T S S
IEREET qeaT Aieas | A
36. | The In-charge of Running room s .......
‘(a) Chief Loco inspector ‘(b) Chief crew (c) Chief (d) Detention
controller safety inspector
inspector
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AT ¥ § STUHUH FFTT .. 7
‘ (&) TR (&) wwnftr | (& Rdiswa
(T) ST Sfrafer seer . . .
LUERIEEEE] qAA TEgE | gEHE AT
37. [ DMM officer in Indian railways is .........7
‘(a) Divisional medicine ‘(b) pivisional (©) Diyisional (d) Divisional
media manager | material manager | Movement
manager
manager
T H FohT o9 | aareT @2
e ()
3g. | (V) CUNCIRSE] PN (&) e
Which of the wagon does have a door in it ?
‘(a) BCN ‘(b) BLC | (c) BTPN | (d) BRN
Rafortea & o Ty Amred § sfaswan sea9rie 82
39. | (M) G7 (@ G9 (d) G5 () G12
Which of the following locomotive has the maximum horse power?
‘(a) G7 ‘b)  G9 | (c) G5 | (d) G12
ST ATEA oAl & gag | Feforied § & &9 a1 961 981 § ?
AT, .
(7) T AT qrar & Fedr | () e e iy g)lﬁéiﬁsﬁ? (3T) HAHAF
T AT AT g3 9 T2
? kI IR e
40. Which of the following is not correct with respect to last vehicle trains?
‘(a) Runs without guard in the | ‘(b) Tail lamp (c) LVboard | (d) No brake van
rear attached at rear attached at at all in the train
rear
SSAET FT ATF ATEF oo, 27
41. | (W) 33w (&) 499 (F) sad (ST) 699
Shell Life of detonator is............
‘(a) 3 years ‘(b)  4years ‘ (c) 5 years ‘ (d) 6 years
TTA FTL T TANT TR T AT GIT oA STTaT 22
42. | (W) St (3T) 7TE ) fard | (@) e d
Tower car is used by which department ...............
‘(a) Engineering ‘(b) Mechanical | (c) Electrical | (d) S&T
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TATALTHT AR AT ............ HREE]
(w) i wfEy w7 (&f1)  <frefeft =1 ('T) erREIeT | (S U
43. | BT [EERUI T faraor qT
Caution order lists down..........
‘() Details of speed ‘(b) Details of BPC (c) Details of (d) All of the
restriction locomotive above
T T3 AT FT qAAS ... &l
(T)  Z7 qi=Te (@) gur | (@) g | (3 I T e
44, | Crew TO time means
(a) Train operation (b)Train onset | (c) Train (d) Train
Ordering. occupation.
A/ THEIH o § THUAAL o dTe Foha=(T ST STt ST Tehdt 872
(m) 4 GLEE (#T) 2 (F) 1
45.
How many bogies can be attached behind the SLR in Mail/Express train ?
‘(a) 4 ‘(b)3 [ ()2 [(d) 1
S AN | ST hael Uah g2ed [#et o §79 THUHUS RAe H7 e &, agi T
TR T3 =aradt aTE R TR T ge?
(1) W SaEET | (@) ST | (@) e
(T) AT FAqTadt are : ‘
ELE AT FE AT TR!
46. In Sections where there is provision of MACL signal with only one Distant signal, Warning
Board provided will be of which type?
‘(a) Passenger Warning Board | ‘(b) Goods Warning | (c) Both (d) None of the
Board above above
BOXNHL & T AT A ............... g
47 | (M) 59 Fm (1) 58 T (HT) 60 | () 4299
Standard size of BOXNHL rake is........
‘(a) 59 wagons ‘(b) 58 wagons ‘ (c) 60wagons ‘ (d) 42wagons
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fareT =it =7 srarer S % AT AR A1 AT % 9 8 FH T/ AT &
STHT =T 0?
(M SR EErE s | (@) LA F | @) TmLuw. | (@D EE
48. | 3oy o stro= &1 forfeaa s | & o ==
How the freight train should be started/cleared from a way side station without BPC or with
an invalid BPC?
‘(a) GDR’s joint check memo ‘(b) LP’s written (c) SM’s (d) None of the
memo written memo | above.
UH 2 5 & qAAS ..., g
~ dn) e ('T) ;T (1) = H
() fea=r P dh = ‘
49 K T ST faeaa siig | &g A T8l
S E ] means...............
‘(a) Switch Expansion Joint ‘(b) Switch (c) Simple (d) None of the
Extension Joint Extended Joint | above.
5 ge¥ a5 T HAAd FIT 87
, (N A
(T) Tgdl ¥ATF0 TC ART &) B e o
ARME #T STl g (@) BT &2 7 ¥ ARME T
50. TAERARETTT | T A
AEATF §
Sounding of 5 hooters means?
‘() ART ARME required | ‘(b) ART required at | (c) ARME required | (d) ART required
at outstation Home station at Home station at outstation
9ifeT o forw sTfershe =T 82
E1))
(@) #/369 (39 \
g1 | (® & F/17602 ('#T) Zr/806 f/1410
What is the authority for shunting?
‘(a) T/369(3b) ‘(b) T/A602 | (c) T/806 | (d) T/1410
AT T | qREde e F7 At o 82
() e ) et | oy s | 0T
52.
Who is authorized to effect changes in General Rules?
‘ . ‘(b) Railway (c) Railway (d) CRS
(a) Zonal Railway Recruitment Board Board
SEl 9% H99 SIEE THS ATl 29 &l FAATE
: () FE oA
(T) EILES ) # AT |T) |rEfEw
53. B = e gl AT
A train with hot axle as far as possible shall be received on
‘(a) Loop line. ‘(b) Main line. (c) Siding line. (d) Any clear line.
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CIEESETIED foar Smar 2
(T) R (gFer afax (ft) T TR afi:])_rr .é; 'rﬁ'ﬁ; (3T) TFAT
ETAEES) ETA R S ETA RS
|1 =1 T F
54.
Power Block is given by
(a) TPC C(E?l;‘zlcl e(1'~1“1‘action Loco g;)&l;l;ﬁ with (d) Section
(Traction Power ' Controll Controller.
Controller) ontrotier.

TAHEr TFed & UH B AT IT-9 U AUEs qfd H FHaEr ®F H a1
FT % T wEemT T _ T TIRT 63T STaT o

(T) AT (&) smEEeeT | (") AfFeawr | (3 fEfuw

is used at stations to selectively shut down OHE supply over a part or
sub-part of elementary section.

55.

(c) Circuit (d) Tripping

(a) Insulator (b) Isolator Breaker Switch
Fofofaa & & w9 AT TAFIT A0 6 ATAH T RTA hl geroldT F Hared
Tl 2?

s | (M) A e (&) ®rEe ('T) T (3 T
Which of the following is not related to coal handling through BOXN wagons ?
‘(a) Wagon Tippler. ‘(b) Silo. (c) Reach Stacker (d) Pay Loader.

= § | FT THIAE  Alal § AT93F A1 H Tol qAT AT 5 .
(M) IRTzAE | () sasiferdt e | (@) wRiz

EURER
TATATESTC

Which of the following is not an essential item to be found at Crew Lobbies.

57.

‘(a) Gradient Chart. | ‘(b) Abnormality | () Accident Chart | (d) Breath analyzer.

Register
T Bede faer &t g e | Her it g W 7@ ST 2
(T) 1000 mtrs (&) 1500 mtrs (®T) 500 (1) 750
58. mtrs mtrs
Inner Distant Signal is placed at a distance of mtrs from Home Signal.

‘() 1000 mtrs ‘(b) 1500 mtrs (c) 500 mtrs | (d) 750 mtrs



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

AT ¥ & AT T IRATAT Tl Hl G971 & &7 1964 § Toq
AEAETE, WA W fEr R
co. (@) TrETEIT (&) AR GOREEK () e
. Constituted in 1964 for handling business and operational aspects of Indian
Railways, IRTS stands for ‘Indian Railway Service’.
‘() Transportation. ‘(b) Telephone (c) Travel (d) Traffic

A WA § o "FE § fOAT M % ARSIl R FATT 0 AIHT 82

|t
(W) FTend-avuEs | () fomgmww oy | L) (F) I
AT FT AT q " & TRl
60. ' EILEEIES
Goods trains are allowed to run without Guards in Raipur division over which section ?
‘ ) ‘ ) (c) DLBS- (d) None of the
(a) LAE - RSD (b) MXA - DRZ BMY bove.

AgaY | ‘HigdT UIAATe S92 2t 2024’ T HSTETHT i 97 197 HT?

(@) faEw )z () 3T (&) Sl
61, TR

Which state will host the ‘Women’s Asian Champions Trophy 2024’ in November?

‘(2) Bih ‘b H (c) Uttar (d) Odisha

(a) Bihar (b) Haryana Pradesh

e RsrE wivEe, S @ad | 2, e qaiae s § R 22

(m) fostes CUNEINIEE @)  wmw | (@ =@l
62. Poba Reserve Forest, which was seen in the news, is located in which northeastern

state?

‘(a) Mizoram ‘(b) Nagaland (c) Assam (d) Manipur

ST of § @Il | ST ‘qIhad TRT 47 872

(M) Y (a) RS | @D (f) WRT | (SN =FEd
P e A | A i

63. | What is ‘Parkinson’s disease’, recently mentioned in news?

‘(a) Neurodegenerative ‘(b) Cardiovascular (c) Plant (d) Respiratory
disease disease disease disease
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BVZI#T wfershaw wfd 3T &led &% &l
i #1) 100 (1) 110
(T) 80 T 9 =er 25 ( , .
o @ NPT okt wfy e | ft s
64. 30 9T 30 9T
Maximum Speed and Codal Life of BVZI is
‘(a) 80 kmph 25 years. ‘(b) 110 kmph 25 | (¢) 100 kmph | (d) 110 kmph
years 30 years. 30 years.
ST F Teua g7 AT H AT ST g |
(s (M 04 ("1) 05 (&) 03 (57) 02
. POH of BVZI is to be done every years.
‘(a) 04. ‘(b) 05. (c) 03 (d) 02
HAIETE! & ArhEied # e T+ et &1 smta #
() 70 fare (&) ) 60 fFHTI (#1)  55mm. | (3T) 50mm.
66.
mm of Flat Tyre is permitted in the Locomotive of a goods train.
‘(a) 70 mm. ‘(b) 60 mm. () 55mm. | (d)50mm.
T % T TG & SO AR & TIg Gt g qI e § THUH &l THRTIT
T, |
&7 (D) T (1) . (&) &, (3 T
Guard shall show light by night to the SM, if the train is standing clear of
fouling mark.
‘(a) White. ‘(b) Yellow. (c) Green. (d) Red.
T AT AT ATAFRAY ;A et i =er 2l
() 40 fFfr i =em () 50 BT fd | (HT) 60 fe () THe
68. | gfd =e e
Maximum speed of ‘A’ Class ODC is kmph.
‘(a) 40 kmph. ‘(b) 50 kmph. ‘(c) 60 kmph. | ‘(d) Booked Speed.
YT TGS H YAT FAA ATAT o AT F TR F
. . (#T) (1)
(T) EhaITTF. &) i,
69 =) TH RIESUE TP
Train entering into sand hump is a type of accident.
. o , . . (d)
(a) Indicative. (b) Serious. (c) Collision. Consequential.
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9 Fa9 F AT 1378 % edase H Afgaway id et wfa ser 2T 2l
(w) 10 fFHT i =em (w) 15 Tty (@) 20 EFH (w) 30 T
70 R gfd = gfa e
" | Maximum Speed while running through over 1 in 8 %2 turnout with curved switch is
kmph.
‘(a) 10 kmph. ‘(b) 15 kmph. (c) 20 kmph. | (d) 30 kmph.
qefwe o & Rigt Roa a9 =i T wfa seT 2
(m) 15 Bl afy e o 2088 | S0 25| )30
: [EL IS ‘
gfa =T . gfa =
- TN
" | While dropping ballast from material train, speed of the train should be less than
kmph.
‘(a) 15 kmph. ‘(b) 20 kmpbh. (c) 25 kmph. | (d) 30 kmph.
IfT T AT AT AqART § FAT &*AT SATar g, R &+ AT
STaT ®
) dgerr =1 | (d) e
If ‘A’ marker is extinguished in automatic section, signal is treatd as .
‘(2) Automatic. ‘(b) Manually Operated. (c) Gate Signal. | (d) Permissive .

3 2Tk A, B #liT C T 313 T T0T 90 a9 gl 4 Y Tgol STl 31 T TRT FAT 1T
(T7) 74 a9 () 78 ay () 86 ad (1) 8o ad

73. | The sum of the ages of 3 people A, B and C is 90 years. What would be the total of their
ages 4 years back?

‘(a) 74 years ‘(b) 78 years ‘(c) 86 years | ‘(d) 80 years
Sg TS F a0 ..., 2T gl
(W) TO T wrferh (@) To ¥ FH (¥1) TO AT FemT (&) T

FT PDD ¥ FIs Ha .
i & I

74 A high PDD leads to ...........

‘(a) More number of TO | ‘(b) Less number of | (c) Number of TO
TO has no relation with
PDD

(d) None of the
above
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AT T STdavd Tgi qgl a1 SraT ol

75.

(7)) g Rdv ==

(1) o= A #
e

(ft) TF AT H
LC e

() Fe=
fereperaT T
T

Generally speed restrictions are not imposed on

‘(a) High Degree
Curves

‘(b) Boulder falling
zone

(c) LC gateina
section

(d) Site of weld
failure

FrerfRrfr & & F1 AT T A T 3

() v A et (1) FeeT GUNEER (FN) FILH
AL RELE Tt
76. |"Which of the following is duty of pointsmen..........
‘(a) Shunting of loco ‘(b) Crank handle (c) Signal (d) All of the
operation exchange above
STERTIAT FIT erie AT &7 o7 ... 2|
(W) e e iy oy | (A1) A TS | (HD) OGS T
- T & Adeor | e = 1 e
" | Footplate inspection by officers means ......
‘(a) Inspection of accident (b) Inspection of section | (c) LC gate (d) Running
site by running train Inspection room inspection

T LA dedeh Muead § o o T § gl Lol g |

(7)) HeTig

(&) EH

(HY) enfeer

(ST) gL

78.

Konkan Railways network passes through which of the following state

‘(a) Maharastra ‘(b) Assam (c) Odisha (d) Haryana

T e o T & =T § 3@ Srar 2

(T) aforsw (&) s (1) e (F7) st
79. ACP detention is kept on account of which department ?

‘(a) Commercial ‘(b) RPF ‘ (c) Safety ‘ (d) Operating

REfrad & & 19 ¢F &1 "qeF Tal 87

(T) &=AuT (&) ¥ GURRLED () AT

80.

Which of the following is not component of track?

‘(a) Sleeper

‘(b) Rail

(c) Ballast

(d) Tail lamp
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TeoE H et &1 T 91X Fohee a1 2l
(T) qi=Ter e EBEEIGRC] &) e ‘(ﬁé})F &
o1 SRR farsT o fasmT —
Relay room in station is under charge of......
) . ‘(b) S&T d t t | (c) C&W , .
(a) Operating department (b) epartmen Ele)partment (d) Engineering
department
AT % POH &7 T ........... g
~ (3T) rafee® (&) wratew | (3 St
(7)) A SEeTtenT : \ :
82. AT AT AT
POH of wagons means ..............
‘ : . ‘(b) Periodic (c) Primary (d) Proper
() Premium Overhauling overhauling overhauling overhauling
83. |afer@amed W e WA wA F T L. FATET 7
START AT St #
(#)
(W) )&/509
T ) (3T) 21/510 f/511 (ST) /512
To receive the train on obstructed line authority is used.
(a) T/509 (b) T/510 (c) T/511 (d) T/512
84. | zf¥aer TEH AT H YAY FXd HAT 9 &l T GERINEIE SIS
@ 10fEl S H | o sBefr o | S0 20y o Bt
. [ERIRCIE] ‘
=T . gfd =eT
gqIT
Speed of the train while entering terminal goods yard is restricted to
(a) 10 kmph (b) 15 kmph (c) 20 kmph | (d) 08 kmph.
85. |'siw IfeAr T UF e H' T AT ot ST 2
() e (&) HererEue E(;:grl) (ST SASTIEEA
‘All India Trains At A Glance’ is prepared by .
(c) Railway
(a) IRCTC (b) CRIS Board. (d) RDSO.
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86. | ' Fufq # T@ATold Tl RREA & oA a1l 29 @i Tiaered T
Bt ofr weTd
(T) 15/10 (&) 15/08 (#) 10/08 | (3T) 40/15
The restricted speed of a train passing an automatic stop signal at ‘ON’ position is
kmph
(a) 15/10 (b) 15/08 (c) 10/08 (d) 40/15
87. | ATl | FAehiehl & WY SATIHaH SN[ 1 ATHAT HEAT gl
(T) 10 (#h) 05 (") 08 () 03
Maximum Number of wagons loaded with explosives allowed by goods trains’
are
(a) 10 Nos. (b) 05 Nos. (c) 08 Nos. (d) 03 Nos.
88. T A ATHIGT K "I TF HRNS! § 0.D.C.H ¥ v & wwar 2
|1 =t ) T
(m) S @y A ey, g, | ODOFTER D
frum T
0.D.C. may be attached to a goods train with the prior approval of__.
(a) GM (b) PCE (c) CFTM (d) PCOM
89. |wefRmer ga & form adel . ... ... safy & forw Sy
#T SATAT 2 |
() 30 () 15T== (7T 28f= | (3N o04faw
BPC for material train issued for ............ period.
(a) 30 days. (b) 15 days. (c) 28 days. (d) 04 days.
90. |HEX & T AFLE & I, I sAl® daeH | 9 H S0 a7 g, ql Te oA
TOSEH AT H FA o T ... T 9T T[T TEAT |
#) 90, 90 (&) 250 (2T) 250,250
(T) 600, 600,10, 10 Hrzw1 | ¢ r 90, : 250,
K 10 Hiex 250,10 #Hex | 10,10 Hiex
During total interruption of communication, when a train is stopped in the block
section, Guard shall place detonatorat. .......... to protect the train from
Brake Van.
(c) 250, 250, | (d) 250, 250, 10,
(a) 600, 600, 10, 10 mtrs. (b) 90,90, 10 mtrs. 10 mirs 10 mtrs.
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91. | ATEA F T A F Gal & JATqL g UL A=l gAh q1S ohawl gl I
AT SATAT ¢ |

(T) 1000 Hiexw () 1200 #Hex (fT) 1400 #Hex | () 1500 Hrex

Caution Indicator Board placed during Monsoon in danger water level from bridge.

(a) 1000 mtrs. (b) 1200 mtrs. (c) 1400 mtrs. | (d) 1500 mtrs.

92. | HHU WIEd TR ACHA A UF ¢ urienaar | a8 =

@) wE g WA | (F) A
() @ AR &‘ﬁ)“ﬁmzﬂ NN N ) e N

A= FT A= FT

Level Crossing Gate Man noticed a train has parted. He shall show

(a) Danger Signal (c) Waiving a Green (d) Waiving a
(b) Proceed Signal Flag vertically Up & Red Flag
g & y-p vertically Up &
Dn
Dn
93. | Wedqd g HATOWIMET o ¥ fohde ST So|l & e AT STUam?
(M) 01 (#1) 02 (&) 03 (F) 04

How many dead locomotives to be attached on a Multiple Head Goods Train?

(a) 01. (b) 02. (c) 03. (d) 04.

94. | S T AET H B HeH Fdl @ AT TS H oA A A e H SqTaT TRl

2l =20
15 Fft oqfY 57 (aisr) 10 fFHT wfaq () '051:0543[ (=) '031%mﬁ
) HaT gfa =er gfa =T
When a crane is attached to a train, the speed of train in turnout shall not more
than........
(a) 15 kmph (b) 10 kmph (c) 05 kmph | (d) 03 kmph
95. |TEH FHiFd AT T H FAe AT AT aqHT AT 60 et s L. L. FHIT
gl‘lll
(W) 70 Rt (<ft) 40 fady (#1) eofdt | () 50T

Permissible limit of Flat Tyre in goods vehicle and Engine is 60 mm and .........
respectively.

(2) 70 mm (b) 40 mm (c) 60 mm (d) 50 mm
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96. T

8.1 x 8.6 x =5.2

(T) -362.232 () -392.222 | (®T) -345.123 | (31) -320.321

Multiply

8.1 x 8.6 x -5.2

(a) -362.232 (b) -392.222 (c) -345.123 | (d)-320.321
97. | AT ST 3

0.2268/0.84

(T) 0.14 (&) 0.27 (&1 0.23 (1) 0.18

Find quotient

0.2268/0.84

(a) 0.14 (b) 0.27 (c) 0.23 (d)0.18
98. | ATTHS T &2 :

0.0506/0.46

() 0.11 (a) 0.14 & 017 | & o0.21

Find quotient

0.0506/0.46

(a) 0.11 (b) 0.14 (c) 0.17 (d) 0.21
99. | SO SATHHA 177, 173, 169, 165,... T AT T2 AT I 197

(T) 161 (sfT) 168 (HT) 172 (¥7) 183

Find the next term of the arithmetic sequence 177,173, 169, 165,...

(a) 161 (b) 168 (c) 172 (d) 183
100. | ferferfed # ofF qear Sra fifog: 7-24+8xWr+ 6=1

() 3 (d1) 7 (") 4 (&) 5

Find the missing number in the following:

7-24+8xm+6=1

(a)3 (b) 7 (c) 4 (d)5
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101. | T¥ & T TISTATHT F4T 8 ?
F) | @) | R | @) | e (=) | 7 oo 6 B
& 2 ferfr = 2
What is the official language of the Union of India?
(A) Hindi in (B) | Sindhi script | (C) | Hindiin (D) | Nagari script Hindi
Brahmi Hindi Devanagari
script script

102 | T TSTATHT AT § e o H2eT gId & 2
(¥F) 5 (=) | 30 () |25 (=) | 20
How many members are there in the Parliamentary Committee on Official Language ?
(A) 5 (B) | 30 (C) | 25 (D) | 20

103 | I B afufa & qegeg FT gra g ?

(%) TLTAHAT (@) | Trgata @) | AT () | TSI
T AT
Who is the Chairman of Central Hindi Committee?
(A) Prime (B) | President (C) | Lok Sabha | (D) | Rajya Sabha
Minister Speaker Speaker

104 | T Bd oo B fAeT A q9g 8 ?

(F) A G918 | (F) | I8 HATAA () | forcer §=mer T | (F) | T /A
IEEDE:]
HATAT

Central Hindi Directorate is affiliated with which ministry?

(A) HRD (B) | Home (C) | Ministry of | (D) | Defence
ministry ministry external ministry
affairs

105. | TrorTaT SfAfReH e A & 2
(®) |133F @) | 10 ard=r, 1965 | (M) | 15 s=9ar | () | 109 1963
1964 1963
In which year did the Raj Bhasha Act was constituted ?
(A) 13th June, (B) 10th April, (C) | 15th (D) | 10th May,
1964 1965 January, 1963
1963
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106. | TrorATYT fEat wfe@Ew & T 915m® i J37 FdT af ?

(F) TR & | (@) | | () | e | () |3 e
TISTHTYT
AT

Who prepares the syllabus for official language Hindi training?

(A) Department | (B) | Finance (C) | Defence (D) | Rail Ministry
of Official Ministry Ministry

Language in
the Ministry
of Home
Affairs

107. | T2 & weftorar s srferariaiant fohae wiaerd wrd gt § # & forw ftas s @ ey o
AT AT FoFT ST Tt 872

(®) | 75% | (=) [ 80% [ (m) [90% () [100%

In order to do what percentage of work in Hindi to the officers proficient in Hindi, orders

can be issued personally by the head of the office?
(A) 75% (B) | 80% (C) | 90% (D) | 100%

108. | H=S TSTATHT FI AT TTHIT 6 AT I 20d 8 ?

(F) | TEERTR | (T) | S (1) | TTSTATET () | afes d@ea afwEar
sTferTr
Who is the chairman of Mandal Official Language Implementation Committee?
(A) ADRM (B) | DRM (C) | RajBhasha | (D) | Sr.DEN
Officer
109. | F=fereT 5 & I =T 97T e AT § ATHS qal § 2
(®)  |#e | (=) | s REE: | () | et
Which of the following languages is not included in the Eighth Schedule?
(A) Sanskrit (B) | English (C) | Urdu (D) | Sindhi

110. | fE<Y 9Tt TS § 979 91, 9% AT9 978 Ud a7 a1 &l HIaTET 6 w0 § gaforg e

STaT 87
(F) et AT, @) | eEfr AT, | (1) | S AT, | () | S T, BT 9T,

In which order are the name board, designation board and information board displayed in
Hindi speaking states according to the rules?

(A) Hindj, (B) | Regional, (C) | Regional, (D) | English, Hind,i,
English, Hindi, English, Regional.
Regional English Hindi

kkk
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